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HRS—2 BEMIERTILETSNAERICHIZFE/) i} _ | HEEFE | FAUSEE
StEftouE | #mEEs 139A0435 | B4 \ FEQ) |  FrfEH  ERWTEEIZTH
SERMO TinICHEET S ZER A
ﬁg TREOBEBOSILHOKRES ITREOHBEEILNOKRES TEFEOBEBOEILHOKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{ 0.00 ~ 3.92 163.92| 3m%x# %% 0.00 ~ 2.31| 4.09 21.90| 100kN/m#%#8% % 1.00{ 10.54 ~ 77.05 163.92| 3m%x#8% 5| 25.00 ~ 77.05| 4.09 21.90
s 1.00{3.92 ~ 11.70 100.00f Z=hl4t | 2.31 ~ 11.70] 3.00 16.05 s 1.00f 5.00 ~ 10.54 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
9 100kN/m##8 %% 1.00{ 0.00 ~ 4.07 166.64|3m%#% %] 0.00 ~ 2.49| 4.24 22.67| 100kN/m#%#8% % 1.00{ 10.74 ~ 68.69 166.64|3m%#8% 5| 25.00 ~ 68.69| 4.24 22.67
s 1.00{ 407 ~ 11.85 100.00f Zhl9t | 249 ~ 11.85] 3.00 16.05 s 1.00f 500 ~ 10.74 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
3 100kN/m##8 %% 1.00{ 0.00 ~ 4.07 166.76| 3mx# %% 0.00 ~ 2.53| 4.27 22.87| 100kN/m#%#8% % 1.00{ 10.82 ~ 63.90 166.76| 3m%#% 5| 25.00 ~ 63.90| 4.27 22.87
s 1.00{ 407 ~ 11.86 100.00f Zhkl9t | 2.53 ~ 11.86] 3.00 16.05 s 1.00f 5.00 ~ 10.82 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
4 100kN/m##8 %% 1.00{ 0.00 ~ 4.00 165.42| 3m%x#%%|0.00 ~ 241 4.17 22.34| 100kN/m#%#8% % 1.00{ 10.63 ~ 63.11 165.42| 3m%x#% 5| 25.00 ~ 63.11| 4.17 22.34
s 1.00{ 400 ~ 11.78 100.00f Zhlst | 241 ~ 11.78] 3.00 16.05 s 1.00f 5.00 ~ 10.63 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00{0.00 ~ 6.34 79.73| Fh LSt | 0.00 ~ 6.34| 1.92 10.27 s 1.00f 500 ~ 7.91 79.73| #hLlst | 5.00 ~ 791 1.92 10.27
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 5.02 62.50| =h L4t |0.00 ~ 5.02| 1.57 8.38 s 1.00f 500 ~ 5.75 62.50( =h 4t | 5.00 ~ 575 1.57 8.38
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR



